EARAROBEEIERT — 2 N— IBISH —F

2012FE3R7H (k) 19EA#3H

PRl > % 3m® 87 AL153AKiE

‘ (%] 8 ‘ (EmmEl  — | 4 (5) 14000 RE

[AE<%] 1 7% :1,300,000 § 2 j&:455,000 F 3 7 :260,000 4

4 7% 195,000 F 5 3& :130,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ST 4 43 | EHWEER 1:28.1 9-11-7 | 37.4| — 9 442 | EFEF (KHF)
1lsle| 7vT>tnn—r 54.0 S Loy | B EETP-4
Riy—XUHEAY B:IYTN—N— b FE &
o O O O FEFIKE :28. ~4- . — SIE=ER (KFH)
d— K> IN=3 4 3 e 1(72?:; 5-4-4 38.4 5 (4_622) b
R:28—A7aV—-> B:I7JTF«F72 FEWS
o Saro it 3 | ABEX 1:28.3 6-8-8 |38.1| — 1 443 | AR (KH)
Ex7Eva~ 54.0 (11/4) Loy | ) 77-xrEVas
L—F7a—- B:7ROTZRKISNL TFRES
. = KHEZ : -0 — BAME (/)
YL TS 3 =HE (12.213/.23) 1-2-2 | 39.3 2 <4+311) £ éb/{f‘h
x4 xITg B:d—-IFrNn—Fh Bl &
. EHE— . _1- . — FEME (KH)
IO hAH— - o I © L | mie
LFA—THAILLR BVTFIA—I 24—TF—L
= TS 4 3 | FlREX 1:29.2 3-3-3 [39.5| — 4 487 | BB (KH)
617110/ 77> >RT— 56.0 (1 1/2) ©) |FERE
L:2¥2Y3AY B:XbOCTRITY BREHEBS
T IR t 3 | SHEMR 1:30.0 10-5-5 [40.3| — 3 470 | ERE (KH)
71813 71> TN 2— * 56.0 ) (o) |EREIE—Z ()
L:h—-r B:TUF1—U—-) FREE
9 FHEA : —12- — AR (KH)
gl 101 Fv20 3 el 1(/73(1):) 12-12-12 | 39.0 1 5_320) i
QT4 LN—HL b= BILF(IRN—=+ L8855
7 o3 | KRR 1:30.2 4-5-6 | 40.5| — 8 451 | BRA—R (KH)
957 1A—=7)b70-— 56.0 (2 E) (7) |WLAR
R:A—FIWh7z BATHFLTF—Va>r e ]
SR o0 i 3 | AllEEN 1:30.8 8-10-11 | 40.1| — 13 | 445 |itEE (KFH)
10 g|I>hIa>b 54.0 3) o) | W ZATHR—b
Riv—%XLI¥E4Y B:7O0-Fhkuday BE BE
o . FHEE :30. -9~ . — JEF I (/)\HE)
M - BESAYEL S [e S R S Eixke
L:77NTZT B AT NI TATAT7—14
. # 3 | ERZME 1:31.5 6-7-10 | 41.3| — 12 | 465 | RARELE (\#h)
12(8]12| ¥ —Fv bEAL 56.0 31/2) “n | &) W@ T
R:gALINT Ry IR B TIN—E1F e
WHAfEX :32. —13- . — EER (KH)
131711 A4 T Y—F1 4 3 7 1(362)7 13-13-13 | 41.2 7 (4;5) é?ﬂz@i‘a
L:T7NHEy b BTy bOATIR W FSILR &y K
® I—F—@EBIERL
13—-7-
2T =7= (3,4),10,7,2,(5,12),8,6,13,9,1,11
T =35r= 3,4,10,2,(7,13) ,12,5,9,8,6,1, 11
41—F— 3,4,10,2,13,7,6,5,9,12,8,1,11
[ RN
B 6 3,980 794K 2-6 2,850 & 2-5 8,950 &R 2-5-6 18,750H
# B 6 770H 5-6 2,640 B 2 19,880M EE 6-2-5 192,260M
2 440M 2-5 810M B = 2-6 14,940
5 170 B H 6-2 51,180

ABICOVWTRDTEEERROODE. TR LIV,




